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1. Rita told Mani, "The girl I met yesterday at the beach was the youngest daughter of the brother-in-law of my friend's mother". How is the when the length of Shadow of a 
vertical 

pole 
Is y 6. Find the angle of 

the 

elevation 

of 
the S 

girl related to Rita's friend? 
times its height. 

) Cousin 

(B) Daughter 
(A) 45 

(B60° 
C) 30° 

(C) Niece 

(D) Aunt bro 
(D) 22% 

2. If sin0 is similar to � 

13 then what is the value of 7. Choose the number whicn 

tane+sec6? given set. 

be 12 Given set: 363. 489. 579 

(A) 2:5 
(A) 562 

(B)05 
15 

(B) 471 

C) 382 
(D) 152 

(D) 281 

3/The time in which Rs. 80,000 amounts to 
Rs. 92,610 at 10% per annum compound interest, 
interest being compounded semi-annually, is 

8. If 17th term of an A.P. exceeds its 10th term 

by 7. The common difference 1s 

(A) I KA) 1.5 years 
(B) 2 

(B) 2 years 
3 

(C) 3 years 
(D) 4 

(D) 2.5 years 
20 

4. In a class of 150 students 70 passed in 
mathematics, 60 students passed in statistics and 
20 in both subjects. Then number of students 
failed in both subjects is 

9. Atrader mixes three varieties of groundnuts costing Rs. 50, Rs. 20 and Rs. 30 per kg in the ratio 2:4:3 in terms of weight and sells the mixture at Rs. 33 per kg. What percentage of profit does he make? 

(A) 30 
JB) 40 

50 

(A) 8% 
(B) 9% 

(C) (C) 10% 

(D) None of the above (D) 60 

5. The diagonals of a rhombus are 24 cm and 
10cm. The perimeter of the rhombus (in cm.) is 

10. Firm is relate to Flabby in the same way as 
Piquant is related to 

as 

(A) 68 (A) Bland 

(B) 65 (B) Salty 

C) Pleasant (Cs4 
(D) Small 

52 
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11. Direction: Read the information given 15. Find the minimum valuc of 5 sin)+ 12 cost low and answer the questions 
In a fanuly ot six persons A. B.C. D, E and F. there are two marTied couples. DIs grandmother of A and mother of B. 

(A) 0 

(B) -I 

Cs wite ot B and mother ofE 
INFIs grand daughter of E. 

-13 

Who among the tollowing is one of the 
ouples 

16. A survey shows that 73% of the Indians like 
apples, whereas 65% like oranges. What percentage 
of Indians like both apples and oranges? 

(A CD 

B DE 

CEB 
(A) 83% 

D EC 
(B) 8% 

(C) 38% 

(D) 35% 
12. The volume of a solid hemisphere is 

numerically equal to its total surface area. Its 
radius is 

17. If the length of shadow on the ground of a 

post is 3-v3 times of its height, the angle of 
elevation of the Sun is 

A 45 units 

(B) 9 units 

C) 3 units 
(A) 30° 

(B) 45 

(C) 60 
JO) None of the above 

(D) 1 units 3-3 

33 

13. There are five positive observations. Average 
of the first three observations is 8 and that of the last 

() 

3 ulna forearm : tibia :? three observations is 6. If the average of all five 

observations is 6, what is the third observation? (A) leg 

(A) 10 JB hip 2 30 
(C) hand (B)_8 

12 (D) thigh 

(D) 14 

14. Five bells ring at intervals of 3, 5,6, 8 and 
9seconds. If all the bells ring once, after how long 
a period the bells would ring together again? 

19. A man borrows Rs. 2.550 to be paid back 
with compound interest at the rate of 4% per 
annum by the end of 2 years in two equal yearly 
instalments. How much will each instalment be? 

(A) 12minutes Rs. 1.352 3, S,4, S 
6minutes (B) Rs. 1.283 

C) 18 minutes 2,3,3 
(D) 24 minutes 

C) Rs. 1.377 

(D) Rs. 1,275 

X Please Turn Over 
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24. The average age of three boys is 15 years 
and their ages are in proportion 3 :5:7. What is the 
age in years of the youngest boy? 

20. Direction: Study the following information carefully and answer the questions given below. An algorithm rearranges a sequence of numbers following a specific rule in each step. Following is an illustration of input and the subsequent steps of rearrangement. 
(A) 15 

B 
(C)18 Input: 98 31 06 72 63 59 36 12 84 
(D) 21 Step 1 98 31 36 72 63 59 06 12 84 

Step 2 84 31 36 72 63 59 06 12 98 
Step 3 84 31 36 63 72 59 06 12 98 25. If the product of two successive positive 

integers is 7482. Which is the greatest integer? 

A 87 

Step 4 84 31 12 63 72 59 06 36 98 
Input: 31 59 06 72 84 12 36 98 63 

Which step will be 63 59 36 84 72 12 06 98 31? (B) 82 (A) Step 1 
(C) 84 (B) Step 2 
(D) 89 C) Step 3 

(D) Step 4 

26. Find the compound interest on Rs. 14,000 
for 2 years at 5%, interest being payable annually. 21. The area of an equilateral triangle is 400 3 sq. m. Its perimeter is (A) 15,435 

120m B 1,435 
5 20 (B) 150m (C) 1.235 

(C) 90m 
(D) 1,535 

(D) 135m 

27. If v and c, respectively, denote the number of vowels and the number of consonants in 

22. Direction: In each of the following questions, choose the set of numbers from four alternatives, that is similar to the given set. ANTIDISESTABLISHMENTARIANISM, then 
the value of C-v)xe 

Sv-4 

Given set (21, 51, 15) 
(A) (21, 30, 51) 
(B) (21,35, 41) 
(C) (21, 51, 42) 

(A) 0 

(B) 
C) 2 35) (9 (21,91. 35) 
(D) 3 

23. If x=7-43, then x+=? 28. The sum of opposite angles of a cyclic quadrilateral is (A) I 

(A) 90 
(B) 120° 

(B)2 
4 

(D) 16 (C) 150° 

)180 
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The age ot son today 1s th of the age of his After 20 vears. age of father will be twice 

BMWC10/8 

the fa t his son The age ot the father today 1s 

34. Direction: In the Venn diagramgiven bet 
number of Bengali students of age 18 altenlng 

certain onl1ne courses during complete lochdow 

is as follows: 36 
The square represents the students w ho are learnin 

Spanish, the triangle is for those who are learning 

music and the circle is for those who are learning 

photography. Study the diagram and answer the 

questions. 

D 48 

0 The area ot a regular hexagon with side 

0 
A S0V3 cm 

B 1503 em 

C 50cm 

5 40 
fhoo 

50 

D 300 cm 

31. A bocodod the yeight of some of his 

ingnds as kg. 30kg. 40kg. 65kg. 54kg. 38kg. 
g 45kg 50kg. 52kg. 40kg. What is the median? 

What approximately is the percentage 
ot 

students who are learning one thing only' 

(A) 48 

(B) 49 

A8kg 30 32 34 39 to 4o C) 50 

(D) 51 40kg 

Ci 45kg 35. The sum of first 16 terms of the A.P.: 10. 6 

D 43.8kg 2. S 

(A) -320 

a 
(B) 320 

then find the valye of 
(C) -352 

( a(a-2) 
(ea)- (a 2) 

(D) 400 

36. Direction: In each question below two 

problem figures are given. These are followed by 

four answer figures indicated by (A), (B). (C) and 

(D). The two problem figures have some common 

characteristie features. You have to find out one ot 

a 

(B 

the answer figure which has the same commonality. 

The number of that answer figure is the required a 
-4 

answer. 

D Problem figures 
S A 

33. inatuodig1t 
number. the unit's digit exceeds 

ten s digit by 2 and the product of the sum of the 
Answer figures 

A dhgits and the number is 144, then what is the 

(A) 

number 

(B) 02 
C) D) 

C 68 

D 46 Please Turn Over 
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37. A pump can fill a tank with water in 2 hours. Because of a leak developed in the tank, it takes now 2.5 hours. to fill the tank. The leak will empty the full tank with pump not running, in 

41. Direction: Study the following intormation 

carefully and answer the questions given below. 

An algorithm rearranges a sequence of numbers 
following a specific rule in cach step. Followjing i_ 

an illustration of input and the subsequent steps of 

rearrangement. 

(A) 8hours 

)10 hours 
(C) 14 hours nput: 98 31 06 72 63 59 36 12 84 

(D) 2.33 hours Step 1 98 31 36 72 63 59 06 12 84 

Step 2 84 31 36 72 63 59 06 12 98 

38. State in which of the following quadrants 
Step 3 84 31 36 63 72 59 06 12 98 

Step 4 84 31 12 63 72 59 06 36 98 
the point (v5 -3, V5-2) lies. Input: 59 36 12 98 84 31 06 72 63 

(A) first 
The sum of the numbers in position 3 and position 
7 corresponding to step 4 is (B) second 

(C) third (A) 18 
(B) 42 (D) fourth 
(C) 
(D) 108 

84 

39. The roots of the equation 

-LL+ 42. Find the odd one out: 
are 

Measles, Rubella, Pneumonia, Rabies 

(A) p+9.p-9 (A) Measles 

JB) Rubella (B) -P.-4 
(C) Pneumonia 

(C) p-4 (D) Rabies 

43. The smallest number which when divided (D) 
by 12, 15, 20 or 54 leaves a remainder of 4 in each 
case, is 

A) 454 12, 1S, S 40. Direction: 

A family consists of six members, namely, A, 
B, C, D, E and F. 

(B) 564 5, 20, 18 

(C) 544 
7,5,1o,3 B is the sister-in-law of C's mother. (D) 464 

Cis the sister of F. 
A is the father of D and F is the grandson = K(#0), 

of A. X+y 
then the value of K is 

There are three male members in the family. 
The members of the family belong to how Aor 2 

1any generations? 
A (A) Two 

6) Three 

(B) -I or- Z. (*) K 
(C)- or(ney)2A (C) Four 

(D) Cannot be determined 
or- 
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Ahoatman can row a boat downstream and 

What t 

a 13 kmph and 9 kmph respectively. upsill be the speed of boat in still water? 

BMWC)-10/2ki 

50. In a certain code 'a friend of mine 
written as 4916', 'mine lot of metal' is written a 3109 and 'a piece of metal' is coded as 0 How can673 be written in same coding systen 

A)A metal piece 

(in kmph) 

(A) 12 

(B) J05 

(B) Metal for friend 
G-L 

(D) 10 (C) Piece of advice 

(D) None of the above 

A6. If the average marks of three batches of 55. 0 and 45 students respectively is 50, 55, 60, then the average marks of all the students is 

51. The least number which when diminished 
by 5 is divisible by each of 21, 28, 36, 45 1S 

(A) 425, 

B1260 
(A) 53,33 321, 23,34, 1S 

723,12, 23, 12,1S 
260 54.68 246 

C) 55 33 (C) 1265 

(D) None of the ábove 
, 12, 1S 

(D) 1259 

47. Find the largest possible 4 digit number divisible by 45, 18 and 35. 

52. Directjon: Study the following information 
carefully.and answer the questions given below. 
An algorithm rearranges a sequence of numbers 
following a specific rule in each step. Following is 

aan illustration of input and the subsequent steps of 

s (^5,5, 3S (A) 9540 
B) 9450 

C) 9460 40 rearrangement. 

c3o)113 (D) 9350 Input: 98 31 06 72 63 59 36 12 84 
Step 1 98 31 36 72 63 59 06 12 84 

48. If a car is sold for Rs. 50,000 the profit is 
17 per cent, what would be profit percentage if 
sold for Rs. 47,000? 

Step 2 

Step 3 84 31 36 63 72 59 06 12 98 

Step 4 

Input: 12 31 59 36 63 72 98 84 06 
The sum of the numbers for the given sequence whose positions remain unaltered through all the 

84 31 36 72 63 59 06 12 98 

84 31 12 63 72 59 06 36 98 
(A) 485% 

B) 9.98 
C) 16.20% 

I steps as in the input is 

(A) 94 
(B) 
(C) 
(D) 

(D) 14.50% 

103 49. If tan0+ sec6= 4, then what is the value of cose? 129 

sec t 
Secttomb 

131 

A) 17 
(B) 15 8 53. If P=99, then P(P +3P+3)=? 

2see4' (A) 999 
(C) 

(B) 9999 
23 

(D 32 (C) 99999 

D999999 (1) 
Plenro T 
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54. Sushant spent 18% ofhis monthly salary on 

buying electronic goods and 32% of the monthly Salary on repair work in his house. Out of 

remaining amount he invested 42% in fixed 
deposit. If he was left with Rs. 12.325, how much 
is his annual salary? 

58. Consider the sequence of dates given below 

61 12 71.2|1|72. 2911 |72.25|2 72. 

What is the next term of the sequence 

(A) 22 3172 

(B) 23 3|72 

(C) 24 |3|72 

(D) 2513 72 
(A) Rs. 5., 18.000 

(B) Rs. 5.15,600 

(C) Rs. 5.10,000 

(D) Rs. 5,01.000 

59. Two angles of a triangle are 75° and 45°. 

What is the value of third angle in circular measure? 
(as per convention, we do not use the symbol of 

radian.) 
55. The difference between the compound 

interest and the simple interest at the same rate 
of interest, for the amount Rs. 5,000 in 2 years, is 

Rs. 32. The rate of interest is 
(A) 126 

(A) 5% 3 
(B) 10% 

(C) 
4 C) 12% 

(D) 8% 

C P 

56. Direction: Study the following sequence of 
letters, digits and symbols carefully: 

60. The height of a tower is 4h meter and the 

height of the observer is h meter. He finds the top 
8-FWSY56G ?7I EN#P3 @JBA4MR92+K of the tower from a distance v3 h meter from the 

If the first seventeen elements are written in tower. Find the angle of elevation of the tower as 
seen by the observer. 

the reverse order followed by the next eleven 
elements, which element would be the fifth to the 
right of E? (A) 60° 

(A) 5 (B) 30° 

(B) 6 (C) 45 

C)G (D) 75° 

(D) ? 

57. If the ratio of three numbers are 3:4:5 and their LCM is 1200, then the smallest number is 

61. A sum of money at compound interest 
amounts to Rs. 650 at the end of the first year and 
Rs.676 at the end of the second year. The sum of 
money is 

(A) 8 

16-126 (A) Rs. 600 
B) 60 

(B) Rs. 620 C) 120 

(C)B&r 580 
DRs. 625 

(D) 100 2 2 

25 
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Entomol 1ology : insect: ornithology: 67. Direction: In the Venn diagramgivenbelo 
number ot Bengali students of age 18 attending 
certain online courses during complete lockdown 
is as follows: 

A) plant 

B) fish 

Ceptile 
The square represents the students who are learning 
Spanish. the triangle is for those who are learning 
music and the circle is for those who are learning 

)bird 

photography. Study the diagram and answer the 

questions. 

6. m00UG is equal to 5 
/45 30 

(A) 06 21C 15 25 40 
(B) 0-006 

C) 0-06 50 

(D) 0-0006 orlo 

What approximately is the percentage of 

students who are learning all the things? 

(A) 8 

64. How much time willit take for an amount of 
Rs. 450 to yield Rs. 81 as interest at 4.5% per 

annum of simple interest? 

(B) 9 

(C) 10 

(D) 11 

(A)35 years 
B) 4 years 

C) 4.5 years 
68. The average of first 10 odd numbers is 

(D) 5 years 

(A)
S 

(C) 12 65. If the length of a rectangle is increased by 

S0% and width by 20%; its area will increased by (D) 17 

(A) 50% 13 
(B) 25% 

R56% 
(D) 60% 

1 

69. In a right-angled triangle XYZ, LY = 90°", 
if XY=2 6 and XZ-YZ=2,then secX + lanY 
IS 

(A) 26 2 

yesterday is not Sunday. 
Which of 

OWing day cannot be the day after tomorrow 

(A) Monday 
B) Tuesday 

C) Wednesday 

66. Suppose y 
(B) v6 

(C) 
v6 

(D) 6 
(D) Thursday 

www.byjusexamprep.com



BMWC)-10/21 B-10 

74. Direction: In each question below two 
problem figures are given. These are followed by 
four answer figures indicated by (A), (B), (C) and 
(D). The two problem figures have some common 

characteistic features. You have to find out one of 
the answer tigure which has the same commonality. 
The number of that answer figure is the required 

70. The least number that is to be subtracted 
from 5629 to make the result a perfect square is 

Ay 4 
(B) 

(C) 2 

(D) 3 

answer. 

71. The sum of the first five multiples of 3 is Problem figures 

A45 

(B) 55 

3 
Answer figures 

(C) 65 + (A) 
+ + 

B) 
+ 

(D) 75 

+ + 

72. If cote = *, then what is the value of (C) (D) 

rcos- ysin 0, 
rcos+y sin 0 

+y (A) 

75. Which of the following is the value of 

256x 256-144x144. 
112 

360 
(B) 400 

(C) 380 
(D) (D) 420 

73. Find the correct figure in which the given 

figure on the below is embedded. 

76. Direction: In each of the following questions, there is a certain relationship between 
two given words on one side of: : and one word is given on the other side of:: ; while another word is to be selected from the given alternatives. 

Qwartz: Radio: : Gypsum: ? 
(A) Glass 

(BPorcelain 
)Cement 

(A) (B) (D) (D) Powder 
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32 48 
v812 

The value of 81. Direction: 

A family consists of six members. namely. A. 

B.C. D. E and F. 

Bis the sister-in-law of C's mother. 
Cis the sister of F. 

B) 4 

C2 2223 A is the father of D and F is the grandson 
D)8 of A. 

There are three male members in the family. 

Who is the mother of F? 

(A) D 

E 

R l A and B complete a job working together 
.n 20 days. B and C together in 15 days and C and in 12 days. all three working together will be 

(C) B 

D) Cannot be determined. 

able to compliete the same job in, 
82) A man saved Rs. 16,500 in 10years. In each 

year after the first year he saved Rs. 100 more than 

he did in the preceding year. How much did he 

save in the first year? 

(A) 9 days 

JB 10 days 

C)105 days 3ty 
(A) Rs. 1,200 (D) 6 days 
(B) Rs. 1.650 

(C) Rs. 1,000 

(D) Rs. 1.020 

79. The number of multiples of 4 between 10 

and 250 is 

83. If cosec0 + cote = v3, find the value of 

cosec. 

(A) 50 

B) 4 
60 

2 124n-1) 
C5 

Cosecb* (ote V3 

ce0 Co* 
(A) 

(B) 3 
(D 30 298 9 20 Se 0 

(C) 

2 

trousers Is 

.Total price of 6 shirts and 

Rs 
1 50 while that of 4 shirts and 9 trouserS IS 84. If the 5th day of a particular month is 

Wednesday then what will be the 23rd day? 
s4270. Find out the price of 3 shirts 

6+- 4136 

T- T 427 d 

(A) Saturday 

BSunday 
(C) Monday 

(D) Tuesday 

(A) Rs. 850 

B Rs. 840 

C) Rs. 860 

(D) Rs. 810 

1: 410- Please Turn Over 

26 
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243 85. The average of first 10 even numbers IS 90. 
32 

s equal to 

81 (A)6 
(A) 18 

(B) 22 

(C) (B) 16 
81 

2 
(C) 

9 86. If (a, b, c) * (d, e,f) = a xf+bxe+ cld, 

then (5, 7., 10) * (2, 3, 2) is 9 
(D) 

(A) 6 S23t 
91. Two trains running in opposite direction cross a man standing on the platform in 27 secs and 17 secs respectively and they cross each other in 23 secs. The ratio of their speeds is 

(B) 16 

(C) 26 

P 36 

(A) 1:3 87. In AABC, D, E and F are respectively 
the mid-points of sides BC, CA and AB; if 

AABC=16 sq cm, then the area of the trapezium 
FBCE is 

(B) 3:2 

(C) 2:3 

(D) 3:4 
(A) 40 sq cm 

92. Ifthe median drawn on the base of a triangle 
is half its base, the triangle will be 

(B) 8 sq cm 

(C) 12 sq cm 
(A) equilateral 
(B) right-angled 

(D) 24 sq cm 

(C) acute-angled 88. The number of coconuts plucked from each 
tree is I more than the number of coconut trees in (D) obtuse-angled 
Anil'sgarden. The total number of coconut plucked is 132. The total number of coconut trees in the 93. If b 

b+c 

2 

C= 1, then the 
garden isS 

C+a a+b 
(A) 12 

(B) 22 value ofa +b 1+c 
(A) 0 (D) 33 
(B) 1 

6 89. HCF of the fractions, and is 
C) -1 

(D) 2 48 
(A) 

105 94. Find the least possible 5 digit number 
dividing which by each of 12. 10, 16 and 18 leaves 
a remainder of 5. 

2 2 
105 

(A) 10105 2 12, 10,14, 18 

I (B) 10055 , 5,° 
Je) 10085 

24 
C) T05 

D)T05 (D) 10155 3, S,S 
' 3 6 
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99. If sece=cosec¢ and 0° < (0, ¢)<90°, then 
the value of sin(6 + ¢) is 

95. Solve 

A) 
(A) 0 

B) (B) 

(C) 3 
(C)2 

-2 

(D) 3 
(D) 

L 

100. Ifthe surface areas of two spheres are in the 

ratio 4:9, then the ratio of their volumes will be 
96. Direction: 

A family consists of six members, namely, A, 
B,C,D, E and F. 

Bis the sister-in-law of C's mother. 

(A) 4:9 

(B)6:27 
e)8:27 

(D) 16:9 Cis the sister of F. 

A is the father of D and F is the grandson 101. The maximum number of students among 

whom 910pens and 1001 pencils can be distributed 

in such a way that each student gets same number 

of pens and pencils, is 

of A. 

There are three male members in the family. 

Who is the aunt of F? 
(A) 1911 910teo (A) E 
(B) 910 

(B)D 
) B 

(D) None of the above 

(C) 1001 
lo 

P 91 

102. A circular lawn has an area of 154 sq meter. 
A path of 7 meter width surrounds the lawn. What 

is the area of the lawn including the path? 

in sq meter) 
97. Find the largest possible number that may 

divide each of two numbers sum of which is 1394, 

Wnen none of the component numbers is zero or 

equal to each other. 
(A) 580 

(B) 516 

(A) 17 A) 616 

B) 34 (D) 637 

(C) 41 103. AB and CD are tiwo parallel chords of a 
circle such that AB = 10 cm and CD=24 cm. If the 
chords are on the opposite sides of the centre and 
distance between them is 17 cm, then the radius of 
the circle is 

(D) 82 

8. Which is the greatest 
(A) 0.09 (A) 12cm 

EYo.064 (B) 13cm 

(C) 10cm 
C) 

(D) 11 cm 
(D) 0.5 

Ploo 
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13 Direction: Study the follow ing: its and symbols carefully: 

BMWC-1be 
ietters 

sFWSY S6G?7 56G?71EN=P:@JBA4MR92R The product of the number of digits and the 

I17. Direction: Inthe Venndiagram givenbelow number of Bengali students of age 18 attending certain online courses during complete lockdown IS as follows: 

anefull quenceof 

mumber or sy mbols is 

The square represents the students who are learning Spanish, the triangle is for those who are learning musie and the circle is for those who are learning 
photography. Study the diagram and answer the 
questions. 

(A 49 

(B 56 

C)63 

(D) 70 

30 

IS 25 40 

114. The HCF ot two numbers is 4 and LCM is 520. If one of the numbers is 52. the other number then. 

What approximately is the percentage of 

students who are learning only two things? 
A) 40 

B) 42 
(A) 41 C) )52 
(B) 42 (D) 50 
(C) 43 

(D) 44 

118. Direction: In the Venn diagram givenbelow number of Bengali students of age 18 attending certain online courses during complete lockdown 
is as follows: 

115. A farmer has some hens and some rabbits. 
If the total number of the feet of the hens and the 

rabbits is 160 and their total number of heads is 50. 
the numberspf hens the farmer have 

A) 20 
The square represents the students who are learning Spanish, the triangle is for those who are learning music and the circle is for those who are learning photography. Study the diagram and answer the 

2h t Go 

(B) 2h *z° -180 

(C) 10 questions. 

(D) 20 5S 

35 
/45 30 

I5 25 40 

16. In certain code language AMITABH is 

e s AABHIMT and DHARMENDRA is 

h as AADDEHMNRR. How will MITHUN 
c written in thar code language 

AHIMNTU 

How many students are enrolled in Spanish? *IMNTU 
(A) 120 

(B) 130 
(B) HINMTU 

(C) 140 
(C) IHMNTU 

(D) 150 
(D) HIMNUT 

Please Turn Over 
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122. Direction: In cach question below two aroblem igures are given. These are followed by Fouf answer figures indicated by (A), (B). (C) and D). The Iwo problem figures have some common haracteristic features. You have to find out one of the answerfigure which has the same commonality The number of that answer figure is the required 

T19. Income of X is 25% more than that of the 

Income of Y. What per cent is Y's income lessthan 
that of X's income? 

(A) 25% 

(B)24% 
20% 

(D) 22.5% 
answer. 

Problem figures 

Answer figures 

(A) (B) 120. Choose the appropriate figure: 

A (C) (D) V 

123. Direction: In the Venn diagramgiven below number of Bengali students of age 18 attending certain online courses during complete lockdown is as follows: 

The square represents the students who are learning Spanish, the triangle is for those who are learning music and the circle is for those who are learning photography. Study the diagram and answer the 
questions. 

(A) (B) (C) (D) 35 
45 50 

15 25 40 

The number of students learning 
photography is how much more/less than the 
students who are learning Spanish? 

121. Whiçh of the following ratios is greatest? A) 7:15 
(B) 15:23 (A) 10 more 

(C)17:25 (B) 10 less 

(C) 20 more (D) 21:29 

(D) 20 less 
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The ratio of cost price to sale pricei the profit percentage? Tice is 20:23. 129. Three sets of books on Maths, Science and 

Social Studies have 240,336 and 96 books in each set 

respectively. The books need to be stacked in such a 

(A) 20% 

B). 
(C) 5% 

15% 
way that all the books are stacked subject-wise 
and number of books in each stack is same. The total 

SP 

minimum number of stacks will then be. 

A 14 
(B) 

(D) 6% 

Masood purchased a plot for Rs. 8,000. He 

48 

11 sels the p nlot to Aftab at a profit of 20%. Aftab in turn sells that p Is that plot to Zahid at a loss of 20%. The 

(C) 22 

(D) 21 

plot costs Zahid 

(A) Rs. 12,000 sA2 130. What is the ratio between a square 

circumscribing a circle and that of the one inscribed 
in the circle? (B) Rs. 10.000 

(CRs.8670o 
Jo) Rs. 7680 

(A) 2:1 

(B) 2: 
(C) 2:3 

126. The average of first ten prime numbers D) 2:3 
which are odd is 

131. A hemisphere can with internal radius of 
9 cm is completely filled with water. Someone is 

requested to fill this water in a cylindrical bottle 

with a diameter of 3 cm and height of 4 cm. The 
number of bottles to be required to make the can 

empty is 

(A) 12.9 

(B) 13,8 
JK 15.8 

(D) 17 

(A) 54 
27. A person runs for 1 hour, I hour, 1.5 hours 

and 1.5 hours, respectively, along the sides of a 

Square track. If length of each side is 20km, then 

his average speed in km/hour is 

JA 16 

(B) 128 

(C) 36 

(D) 256 

132. The area of a triangle, the length of whose 
sides are 50m, 78m and 112m, is 

20 
(B) 22 

20 
(C) 24 (A) 1480m 

(B) 1600m 
(C) 1680m 
(D) 3360m 

(D) 26 

and 

in the m 
, which of the following statements P 

and Q is/are sufficient

aA, B, C, D and E are sitting in a row. B is 

em is between A and E. To find out who among them 

133. A fisherman can row 2 km against the 
stream in 20 minutes and return in 15 minutes. The 
speed of the boat in still water is A is left of B and right of D. 

Cis at the right end. 
(A) Q but not P 

(B) P but notQ 
C) Both P andQ 
D) Neither P nor 

(A) 22 km per hour 
(B) 33 km per hour 
(C) 112 km per hour 
(D) 77 km per hour 

Please Turn Dyer 
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134. Gold is 19 times as heavy as water and copper is 9 times as heavy as water. The ratio in 

which these two metals are to be mixed so that the mixed alloy becomes 15 times as heavy as water is 

139. A Single person takes 6 minutes to fill a 
bottle. If from Il am to 12.30 pm 1845 bottles are 
1o be filled, how many persons should be employed on this job? 

(A) 121 (A) 2:3 

(B) 127 B) I:2 
(C) 123 tEy 3:2 

(D) 19:135 (D) 139 

140. Sanjeev walks 10 metres towards the south. 
Turning to left, he walks 20 metres and then 
moved to right. After moving a distance of 
20 metres, he turns to the right and walks another 
20 metres. Finally, he again turns to the right and 
moves a distance of 10 metres. How far and in 

135. Direction: Read the information given below and answer the questions. 
(i) In a family of six persons A, B, C, D, E and 

F, there are two married couples. 
(i) D is grandmother of A and mother of B. 

(iii) C is wife of B and mother of F. 
iv) F is grand daughter of E. 

Which of the following is necessarily true? 

which direction is he from the starting point? (A) 10 metres, North 
(B, 20 metres, South 

C) 20 metres, North 
(D) 10 metres, South 

(A) A is brother of F. 

e (B) D has two grandsons. 
(C, B has two daughter. 

D) None of the above 141. The distance between the centres of two 
circles of radii I cm and 7 cm is 10 cm. The length of direct tangent (in cm) is 136. If V529 =23 then the value of Vo.000529 (A) 2 

1s 

(B) 6 
(A) 2.3 

(C) 8 
(B) 023 

e)0.023 
(D) 18 oto 

142. The length of the longest rod that can be put in a room of dimensions 10m x 10m x 5m is 

(D) 0.0023 

137. The average of first 10 natural numbers is (A) 15/3 m (A) 5 
B) 5.5 B) 15m 

(C) 6.5 
C) 10/2 m D)6 
(D) 53 m 138. A room is 26 teet long and 10 feet wide. If its floor is to be covered by square tiles, how many minimum number of tiles will be required? 

143. The angle between the external bisectors of two angles of a triangle is 60°, then the third angle of the triangle is (A) 50 

(B) 60 26 (A) 40° 
(C) 65 (B) 50° 
(D) 55 (C) 60° 

(D) 80 
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B-19 of the letters are 
missing, which are 

44. Some of 

BMWIC)-10/21 ne order as one ot the options below it. 

given 
in tne orde. 

Select the correct option. 149. If S = ul + 1/2ar and u = 50, a = 98. 1 =2 2 the value of S is ab a 
(A) abbba 1196 ba. 2 ab 

(B) 1098 (B) abbab 
C) 696 (C)baabb 
(D) 139.2 (D) bbaba 

150. Direction: In each of the following 
meaningful) 

word RYTH 

How many more words (not necessarily noful) can be formed using the letters of the 

questions, choose the set of numbers from four 
alternatives, that is similar to the given set. 

T 9t 5 
Given set: (63, 49, 35 ) 

taking all at a time? 
(A) 24 

(A) (72, 40, 24) 
(B) 25 (B) (72, 48, 24) 

(C64, 40, 28) 
MD) (81, 63, 45) 

C) 119 

D) 120 

146. DDT is related to Abbreviation in the same way as LASER is related to 

151. A man makes a profit of 20% on selling 20 articles for Re. 1. The number of articles he 
bought by Re. I is 

20 (A) Antithesis 

B) Acronym 
(C) Epigram 

(A) 24 

(B) 20 

(D) Epithet (D) 30 

147. Choose the number from the given 
alernatives which is different from others. 

152. A is twice as good a workman as B. A and B together complete a piece of work in 28 days. In how many days will A alone do the same piece of Work? (A) 7 

(A) 40 days 
JE) 42 days 

(B) 15 
(C) 31 

(C) 35 days (D) 57 

(D) 36 days 

ate 
148. 

rea 
the etters of the word RAMAKRISHNA 

position after the Tangement? 

2 

Order. hed according to English alphabetical 

any letters will remain in the same 

153. The least number which when divided by 15, 27,35 and 42 leaves a remainder of 7 in each 
,2, 35, 4 

5, S,35, 19 
(A) 1883 

AA'H 
I K 

mNR & S 

21 

(A) 0 RA 

KIStNA 

vision is 

(B) 2007 

1897 C) 2 (D) 1987 

(D)3 1 
is 5 
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159. The difference of a proper fraction and 154. EGIK is related to WUSQ in the same way 
as DFHJ is related to reciprocal is Find the fraction. 

(A) BDFH 
4 (A) (B) ECGF 

(C) sQOM 

(D) XVTR 

12 155. In an Arithmetic Progression, if a = 26 
d=4, n = 7, then a, is (D) 

(A) 4 

(B): 

(C) 3 160. The missing terms in A.P.: 13,_ (D) 7 
are 

(A) 11 and 9 
156. Amal and Bimal started a business. Amal invested Rs. 500 for 9 months and Bimal invested 

some money for 6 months. If they make a profit or 
Rs. 69 in a year and Bimal gets profit share of 
Rs. 46. The capital of Bimal inthe business is 

Rs. 1,500 6y, BY 

(B) 17 and 9 

) 18 and 8 
(D) 18 and 9 

161. Find the correct figure in which the given figure on the below is embedded. 
(B) Rs. 3,000 
(C) Rs. 4.500 

(D) Rs. 6,000 

157. Direction: In each of the following questions, there is a certain relationship between two given words on one side of : : and one word is given on the other side of:: ; while another word is to be selected from the given alternatives. 
Jeopardy: Peril: : Jealousy: ? 
(A) Envy 

(A) (B) (C) (B) Insecurity 

C) Lust 

(D) Sin 
162. Total expenses of a hostel are partly constant 

and partly vary directly as the number of boarders. 
When the number of boarders are 120 and 100 the 
total expenses are Rs. 2000 and Rs. 1700 
respectively. Find the total number of boarders 
the total expense is Rs. 1880. 

158. If x is a prime number, the LCM of r and (r+1) is 
(A) 

(B) (r+ 1 

(A) 200 
C 2 (B) 112 
D) xr + 1) (C) 138 

(D) 115 
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Space for Rough Work 

been seen in a 

survey of a region tha 

B-21 
read English newspaper, 73 persons 
newspaper and 64 

persons read botn 
63 persons do not read any paper o 

BMWC)-10/21 
163. It has beens 

70 perso 

Bengali ne 167. A certain sum of money amounts tO 
Rs. 1,680 in 3 years and to Rs. 1,800 in 5 years. Find the sum and rate of simple interest. 

apers. If 6: 
e 

how many PEople the survey has been done? (A) Rs. 1,200; 4% (A) 79 

B)Rs. 1,500; 4% B) 142 

C) Rs. 1,800 ; 5% (C) 207 
D) Rs. 1,600; 5% 

SF6 
(D) 143 

164. Which of the following four logical diagrams represents Correctly the relationship 

T20 
16 

168. ABCD is a quadrilateral in which P. Q, R 
and S are the mid-points of AB, BC, CD and DA 
respectively. Then PQRS is between 

Musicians, Instrumentalists, Violinists? trapezium * 
(B) parallelogram 

(C) rectangle 

O (D) square a 

(B) C) (D) 

169. A milkman has 21 litres of whole milk 42 litres of toned milk and 63 litres of double toned milk. If he wants to pack the three types of milk in cans so that in no can two types of milk are mixed, then what is the minimum number of can would he 

165. y248+y52+144 is equal to 

require? (A) 16-6 

B16 
(C) 14 

(A) 12 

(B) 9 

(D) 18:8 
(D) 3 

166. The compound interest on Rs. 2,000 in 

Tirst year and 3% per 
annum for the second he fr 

E rate of interest is 4% per 
annum for 

year, will be 

170. Ifa=999, b = 998, c = 997, then the value of a +b+cd-3abc will be 

years, if the rate of inic 

(A) 8982 

(B) 8980 
A) Rs. 143.40 
(B) Rs. 141.40 

C) 8983 
C) Rs. 140.40 

o) Rs, 14240 (D) 8985 
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174. Direction: Study the following sequence of 

etters. digits and symbols carefully: 

8 FWSY 56G?7|EN#P3@JBA4MR92+K 

How many symbols are there in the sequence 

that are immediately followed by a digit and 

preceded by a letter? 

171. Study the Venn diagram given below: 

7 C 
10 

12/6132 
M 

9 

(A) 0 

() Rectangle represents males. (B) 
(2) Triangle represents educated. 

(C) 2 
(3) Circle represents urban. 

(D) 3 
(4) Square represents civil servants. 

Which of the following is neither a civil 
servant nor educated but is urban and a male? 

(A) 2 175. Which term of the A.P. 3, 8, 13, 18... . is 

78? 3 

(C) (A) 12th (-)3 
12 (B) 13th 

(C) 15th 5 
) 16th 

172. Through the publicity of road safety 
programmes the street accident in a state has been 
decreased by 10% in comparison to its previous 
year. In the present year if the number of street 

accidents be 2187, the number of street accidents 
had been in the state 3 years before is 

176. + stands for division, '+ stands for 

multiplication, 'x' stands for substraction and 
stands for addition. Which of the following 
equations is correct? 

(A) 4000 (A) 186-7+5 x 2 20 

(B) 2430 P (B) 18 +6+7x 5-2 = 18 
(C) 3000 

C) 18 x 6+7 +5-2 = 16 
(D) 1458 

(D) 18-6x7+5-2=22 18L* 

I83x-S *2 

173. Ifarea of circular fieldis X squnit, perimeter is Y unit and length of diameter is Z unit, then the 

177. The Length of radius of spherical gas balloon 
increases from 7em to 21 cm as air being pumped into it. The ratio of surface areas of the balloon in value of X/YZ is 

TR X two cases is 
(A) 2 

1/4 
(A) 9:1 

(B) 49 2 C) 
(C) 1:9 (D) 1/8 

(D) 7:441 
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ion: Sudy the follo answer the questions 
B-23 BMWC)-10/21 rully and 

rithm rearranges a 

sequence 
ng information 

ons given below. 

uence of numbers specific rule in each step. Following is 
nof input and the subsequent steps o 

182. Which of the following is same as 

Emancipate, Free, Release? 
A) Liberate 

rearrangement 

Input: 

an ullu 

(B) Quit 
98 31 06 72 63 59 36 12 84 

C) Pardon 

98 31 36 72 63 59 06 12 84 

(D) Ignore Step 1 

Step 2 84 31 3672 63 59 06 12 98 Step 3 84 31 36 63 72 59 06 12 98 183. A plot of 640 sq ft is available at the rate of 
Rs. 4,600 per sq ft. If 30% of the total cost of the 

plot is to be paid for booking the plot. How much 

is the booking amount? 

84 31 12 63 72 59 06 36 98 

Step 

Input: 59 36 12 84 98 31 06 72 63 Which of the following is the third step for this (A) Rs9.38,100 2 
B) Rs. 8,83,200 

(C) Rs. 9,83,200 

nput? 

(A) 63 36 06 98 84 31 12 59 72 B) 63 36 06 98 31l 84 12 59 72 (C) 63 36 06 31 98 84 12 59 72 
(D) None of the above 

2P? 

(D) Rs. 8,38,100 

179. The difference between the squares of two 
consecutive even integers is always divisible by 

184. Choose the similar pair to the given pair. 

Given pair: 11: 1210 
(A) 3 

(A) 6:216 
(B) 4 

(B) 7: 1029 

(C) 8:448 (C) 
7 D) 9:729 

180. If the edge of a cube is increased by 25% 

u percentage increase in its surface area is 

(A) 25% 
185. If & + 2& + && + 1&& = 2 & 4 then & 

stands for 

(A) (B) 48 75% 

C)s0% (B) 6 

(C) 7 ) S6-25% 
(D) 8 

Following 
nber: 

the pattern, 
find the missing 

7 13 11 8 
186. If+=4 and+=1 then what is 39 6 

x+y equal to? 8 2 4 
(A) 11 34 46 ? 

B16 
C) 

40 

(A) 20 
9 

B 22 (D) 8 
C) 24 
D 
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190. A lift carrying 50 passengers 
from the 

ground floor of a 100 storeyed building is moving 

upward. The lift stops at Ist, 2nd, 3rd floor then 

skips 4th floor, again stops at 5th, 6th and 7th then 

skips 8th floor and so on. Passengers get discharged 

in a pattern. 2, 3, 3, 2, 3, 3, .. . In which floor the 

lift becomes empty? 

187. Present age of Neha and Rashmi are in the 
ratio of 7:8 respectively. Six years later, the ratio 

of their ages will become 9: 10respectively. What 
is Rashmi's present age? 

(A) 36 

U 24 lo 
(C) 28 (A) 23 

(D) 40 

127+5e o1tCo 

(B) 24 

C) 25 

(D) 26 

188. Direction: Study the following information 
carefully and answer the questions given below. 191. In AABC, ZB = 90°, BC=7cm, if 

AC- AB = lcm, then the value of sin6 is 

An algorithm rearranges a sequence of numbers 

following a specific rule in each step. Following is 

an illustration of input and the subsequent stepsof 
7 

(A) 24 
rearrangement. 

(B) 25 98 31 06 72 63 59 3612 84 

Step 1 98 31 36 72 63 59 06 12 84 
Input: 

Step 2 84 31 36 72 63 59 06 12 98 

Step 3 84 31 36 63 72 59 06 12 98 

Step4 84 31 12 63 72 59 06 36 98 (D) 24 
Input: O6 12 31 36 59 63 72 84 98 

Which of the following will be step 4 for this 

input? 192. Direction: In each of the following 
questions, there is a certain relationship between 
two given words on one side of: : and one word is 

given on the other sidee of::; while another word 
is to be selected from the given alternatives. 

(A) 98 12 84 59 36 63 31 72 06 

(B) 98 12 84 59 63 36 31 72 06 

(C) 98 12 84 59 36 31 63 72 06 

(D) 98 12 84 59 31 36 06 72 63 

Glucose: Carbohydrates: : Soyabean:? 
A)Proteins 

(B) Vitamins 

(C) Minerals 189. The positions of 5th and 12th letters of the 
word GLORIFICATIONS' are interchanged; and 
likewise the positions of 4th and 14th, 3rd and 10th 
letters, 2nd and 1 Ith letters and Ist and 13th letters 

(D) Fibre 

are interchanged. Which of the following will be 
the 12th letter from right end? 

193. Anthropology is related to Man in the same way as Anthology is related to 

(A) Nature 
(A) F 

(B) Trees 
(B) O 

(C) Apes 
JO) Poems 

(C) R 

(D) T 

www.byjusexamprep.com



nace tor Kough Work 

B-25 ange the given words in the 
sequence in 

BMWC)-10/21 they Occur in the dictionary. 

1Spruce 

Spume 

198. Pointing to a photograph. a lady tes Pramod. "I am the only daughter of this lady and 
her son is your maternal uncle." How the speaker is related to Pramod's father? 3 Spree 

4. Spurt (A) Sister-in-law Ind. 

Spraw 

(A) 1,2,3, 4, 5 

(B1.5.3. 4,2 
5,3, 1.2,4 

Wife 
(C) Mother 

(D) Sister 

(D) 5,4, 3, 2,1 

199. Direction: 

195. If a +=1 and b+=1, then find the 
A family consists of six members. namely. A. 
B.C. D, E and F. 

B is the sister-in-law of C's mother. value of c +, 
Cis the sister of F. 
A is the father of D and F is the grandson 

a 

(A) -I 
of A. 

There are three male nmembers in the family. 
The female members of the family are 

(C) b 

(D) -b 
(A) B.D,E 

(B) B. D. CC C 
196. 10+1/100 +0-0001 equals to (C) B,C, F 

(A) 1-000101 10 0. 000o 

P) B, C. E 
o.01 dO 

(B 0-00101 
C) 10-0101 

(D) None of the above o 0I6 

200. A man borrowed Rs. 16,000 from two 

197. In a shop, there were 4 dolls of different 

heights A, B. C and D. D is neither as tall as A nor 

as short as C. B is shorter than D but taller than C. 

persons. He paid 6% interest per annum to one and 
10% interest per annum to the other. In the first 
year he paid a total interest of Rs. 1,120. How 

much did he borrow from the first and second 
If someone wants to purchase the tallest doll, 

which one should he/she purchase? person respectively? 

(A) Rs. 12.500 Rs. 3.500 
(A) Only A 

(B) Only D 

(C) EitherA or B 

(B) Rs. 11,000 Rs. 5.000 
C) Rs. 12.000 Rs. 4.000 
(D) Rs. 10,000 Rs. 6,000 (D) Either B or D 
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